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QUESTION AND ANSWER BOOK

Structure of book
Number of Number of questions Number of
questions to be answered marks
8 8 40

 Students are permitted to bring into the examination room: pens, pencils, highlighters, erasers,
sharpeners and rulers.

» Students are NOT permitted to bring into the examination room: any technology (calculators or
software), notes of any kind, blank sheets of paper and/or correction fluid/tape.

Materials supplied

* Question and answer book of 13 pages

» Formula sheet

« Working space is provided throughout the book.

Instructions

» Write your student number in the space provided above on this page.

» Unless otherwise indicated, the diagrams in this book are not drawn to scale.
« All written responses must be in English.

At the end of the examination
* You may keep the formula sheet.

Students are NOT permitted to bring mobile phones and/or any other unauthorised electronic
devices into the examination room.
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3 2022 MATHMETH EXAM 1

Instructions

Answer all questions in the spaces provided.

In all questions where a numerical answer is required, an exact value must be given, unless otherwise specified.
In questions where more than one mark is available, appropriate working must be shown.

Unless otherwise indicated, the diagrams in this book are mot drawn to scale.

Question 1 (3 marks) Q% . ﬂ\qmé,“/{ /? Wé "

a. Lety=3xe®. 'Ldft{,: 3 X V6
. L{
Find%. %‘:; z 3 ‘-{;—a > 2¢€ 1 mark
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| Z cos(x)
b. FEd and simplify the rule of f'(x), where f :R—> R, f(x)= y 2 marks
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2022 MATHMETH EXAM 1 4

Question 2 (4 marks) . o MM;{’ 7/%» +C w{p@mwg |

(3 _
a. Letg.(z,oo]—-)R,g(x)—zx_3.
Find the rule for @antiderivative of g(x). ; 1 mark |
j .r L
KLZ: 2o¢-3 -, ] = =57
of e L I
e = 2. 7 = S d i éga(t«t)

b. Evaluate J:( F)(21(x)-3)) b, where J: [/ @) =% and _[01 F(x)dx = %

g; ( Loo [,Zﬁm.] = 5) >z[9¢

59 ( Z[F@QJ ﬁféc)) @/1
= 25, BP&U /z Y R TAYA

3 marks
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| Question 3 (3 marks)

| Consider the system of equations Two W o’{'
| Jox—Sy=4+k ﬂﬂl? SoLng
3x + (k+ 8)y =—1 / @W
Determine the value of & for which the system of equations above has an mﬁmte number of SOlllth % M
b =5y =4+k. sz+(k i)y > - |
-k ﬂ_lé’_) _ |
j == xX =z 3 ﬁ Z Y f ? [
7 ]
Epullg 4 radens |
2 — |
.f

= =

klkig) = 15
bk iy 2o
(/z__+5’)(/<+5) = £
| J /e« ?3, 5
| ) //—*-)
/ezf./z/a+32 =]
Ltfizkd27 =0
(le+3 WE+7) =¢

2= -3 y =0

, =
FWM %wa b= -3
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2022 MATHMETH EXAM 1 6

Question 4 (5 marks)

A card is drawn from a deck of red and blue cards. After verifying the colour, the card is replaced in the
deck. This is performed four times.

Each card has a probability of % of being red and a probability of -Ii of being blue.

The colour of any drawn card is independent of the colour of any other drawn card.
Let X be a random variable describing the number of blue cards drawn from the deck, in any order.

a. Complete the table below by giving the probability of each outcome.

% 0 1 2 3 4
1 4 6 & {
Pr(X = — - — — ——

b.  Giygn that the first card drawn is blue, find the probability that exactly two of the next three cards

drawn will be red. 3
/
7]

fr( 2 lradth) =

2 g .
¢. The deck is changed so that the probability of a card being red is 3 and the probability of a card being

blue 1s l :
3

Given that the first card drawn is blue, find the probability that eWs

drawn will be red. |
Pl 2R [rgd = Prl b #R)+ Pr( RBR )f—ﬁ(ﬁﬂs)

r AP o 1.9 Z
= Ly Ex% 4 FxgxF 4 50545
- |
= 3% 779 _
— %’
LR
5”2
E * 6 < o -8
3 g &Rk
e K\;{:F ERBR g
\f«i \ﬂé—ms :

2 marks

1 mark

2 marks
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Question 5 (5 marks)
a. Solve 10313 =100 for x. 2 marks

i 326-13 : m‘zf
313 = 2
3= (9
7 AR=2-
b. Find the maximal domain of /; where f(x)=log, (x? — 2x - 3). N 3marks
x5 2o~3 PO | |
(o -3)(xxts) 70

demd = (00, 1) V(3,00) |
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2022 MATHMETH EXAM 1 8

Question 6 (8 marks)
The graph of y = f'(x), where f: [0, 27] — R, f(x) = 2 sin(2x) — 1, is shown below.

LE9tx),

_ N
) \ / \ /e

axis.

——

b. Find all values of &k such that f(k) =0 and k € [0, 27].
_—

PCR) = Z2%mizbk)~] =

i i 2w 1
2= %F,%, ¢
= L _ & 77
= 1 F
b. K 8L 130
= (2" Bl 1%

a. On the axes above, draw the graph of y = g(x), where g(x) is the re&tion of f(x) in the horizontal

2 marks

3 marks

Question 6 — continued



9 2022 MATHMETH EXAM 1

¢. Leth:D — R, h(x)=2 sin(2x) — 1, where A(x) has the same rule as f(x) with a different domain.
The graph of y = (x) is translated g units in the positive horizontal direction and M

vertical direction so that it is mapped onto the graph of y = g(x), where a, b € (0, ).
i. Find the value for . /%4(: 1@ )= 1 mark

6'::2 | Moo alx) =3
=) 4f Z.

ii. Find the smallest positive value for a. T/zz ' m/bf . ; é é , 1 mark

B = o flor--1 s
e - te 9t% )=
ﬂ;!___cé: 1:%-‘

iii. Hence, or otherwise, state the domain, D, of A(x). 1 mark

Demaun g(x) = [0, 27]
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Question 7 (7 marks)
A tilemaker wants to make square tiles of size 20 cm x 20 cm.
The front surface of the tiles is to be painted with two different colours that meet the following conditions:

* Condition 1 — Each colour covers half the front surface of a tile.

* Condition 2 — The tiles can be lined up in a single horizontal row so that the colours form a continuous
pattern.

An example is shown below.

There are two types of tiles: Type A and Type B.

For Type A, the colours on the tiles are divided using the rule f(x)=4 sin (%] + a, where a € R.
o @, N

The corners of each tile have the coordinates (0, 0), (20, 0), (20, 20) and (0, 20), as shown below.

(0, 20) (20, 20)
(6,001
0,00 (20,0
a. i. Find the area of the front surface of each tile. 1 mark

/IJI@L = 20X 2l
= 400 wm
il. Find the value of a so that a Type A tile meets Condition 1. 1 mark
£io) = 10
44mo) + @ =/
a = 10.

Question 7 — continued
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LWV

Type B tiles, an example of which is shown below, are divided using the rule g(x) = — M% 3 4+ %x —2x+10.

(0, 20) (20, 20)

00 20,0 Wil o ereqt — /;té ol

b. y that a Type B tile meets Condition 1! 3 marks
[reg = { /!05’ 23 ‘}‘E ?C ~ X —HO)&,L
>
= g 1,4 e zi t fﬁx]
_ gr‘f 5{3 -
b 3 g&ﬁ i [0 b i "i’fg‘t J?

. qg); +’ZL"ZO+(WZ@] L ;?o+,;wa¢/pxo_7

/éama %’9&/9
R e A A R
-~ foo + 800~ 400+ wy

= W0 wm° = Z[(zmméaﬁ

c. Determine the endpoints of f(x) and g(x) on each tile. Hence, use these values to confirm that
Type A and Type B tiles can be placed in any order to produce a continuous pattern in order to meet

Ty

Condition 2. 2 marks
Ho) = 4%[7@2) 1 l!l 0) “ﬁz’ﬁi”l'o ZX O+ /0
T 4 4m (o) +10 — jf’) .
- [0 | @(Zv) _-fxw 7’;‘29 ~2x 90400
U ot Gl T e s
Sk Sz #00 = = QU+ 20-40+(D

Gnee P0)=#00)=gl0) = 9(20) Tle Liles con fe

Iﬁdﬂw/&:&d/@qﬁvdé’ﬁm
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2022 MATHMETH EXAM 1 12

Question 8 (5 marks)

Part of the graph of y = f(x) is shown below. The rule A(k) = k sin(k) gives the area bounded by the graph
of f, the horizontal axis and the line x = . )

¥y x=k Er / ~
A : g 673
] /|
| ‘;@,._E
| |
: !
I
|
]
I
I
I
I
0, 0) : %
0.5 1.0 1.5 2.0 2.5
a. State the value of A[g] = 7T - rf‘) 1 mark
(5) = 3 Sl =
H i - 3 .3 _
T 5 R
= Bl S
b. Evaluate f[ﬁj. 2 marks |

Poy= A (k) usk vz500 |
= ksl +Sin (B, =1 U=4slk)

I i ;
£, wl3) (D)
. -l;""-’{, # ‘é';

/A
= F+ %
z w4 3‘\(’—’4
6

Nt A = gﬂ[i)olm %e-fb’zz{z/f%g
=7 ﬂ(gt),ai; Areot

7 8

Question 8 — continued
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c. Consider the average value of the function f over the interval x € [0, k], where k € [0, 2].
| e ——

Find the value of k& that results in the maximum 1 average va_ll_lg. 2 marks
Prerage Voo = Ale)
R .
=  k%n(h)
Vi

- Ginlk).

wher m (£) =1
p-%
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